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ENGLISH VERSION

Instruction : Write answers of all questions in main answer sheet.
1 Give the answer of M.C.Q. 20
(1) When was the end of first World War ?
(A) 1915 AD. B) 1916 AD.
(C) 1917 AD. D) 1918 AD.

)

3)

4)

()

©6)

How many countries took part in the first world war at both
the parties ?

A 30 ®B) 28

©) 20 O 25

The immediate cause of first world war was
(A) Murder of Ferdinand

(B) Murder of Mussolini

(C) Murder of Hitler

(D) None

Which was the type of treaty of Versailles?
(A) Right (B) Ductile

(C) Unjust D) dJust

Which city was party in the treaty by the end of the First
World War ?

(A) Rome (B) Paris
(C) Vienna (D) Budapest

When has the implementation of the letter of League of
Nation begun ?

(A) 15 August 1920 (B) 14 April 1920
(C) 1 June 1920 (D) 10 January 1920
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(7) What was the aim of establishing League of Nation ?
(A) Universal Peace
(B) Universal Fraternity
(C) Universal Equality
(D) Universal Independence

(8 In which Zar’s power, the Russian Revolution (1917) had
begun ?

(A) Alexander - 1 (B) Alexander - 2
(C) Czar Nicolas - 2 (D) Czar Nicolas - 1

9 Which the Russian Leader was impressed by Karl Marx’s
socialist 1deology ?

(A) Kerensaki (B) Lenin

(C) Khruschov (D) Plakhenov
(10) How many parliaments failed in Russia ?

(A) One B) Two

(C) Three (D) Four

(11) Which new experiment was executed on Agricultural sector
by Stalin ?

(A) Collective Farming
(B) Plantation agriculture
(C) Co-operative Farming
(D) Dry Farming
(12) In which year Stalin put the new constitution in Russia ?
(A 1928 AD. B) 1932 AD.
(C) 1936 AD. O 1925 AD.
(13) Emblum of Ancient Roman emperor
(A) Spade and Grain (B) Spade and Circle
(C) Lantern and Flame (D) Fascis and Axe
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(14) Who was the main founder of Fassism in Italy ?

(A) Hitler (B) Musolini
(C) Churchil (D) Stalin
(15) Which uniform was worn by the members of the Fasist Party
in Itali ?
(A) Black (B) Blue
(C) Red (D) Yellow

(16) Who established the Nazi Party ?
(A) Mussolini (B) Lenin
(C) Bismark (D) Hitler
(17) In which country of Europe the Nazieism took place ?
(A) Italy (B) Hungary
(C) Germany (D) Greece

(18) Which treaty was unaccepted by Hitler called “The Rag Paper’
by him ?

(A) Lokarno contract
(B) The treaty of versailles
(C) The treaty of Paris
(D) The Munich treaty
(19) Of which country was the Churchil Prime Minister ?
(A) England (B) France
(C) Spain (D) Holand
(20) The headquarters of UNO 1is situated at
(A) Geneva (B) Paris

(C) New York (D) Moscow
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Describe the causes of First World War.
OR

Point out the causes of failure of League of Nations.

State the reasons responsible for the rise of Hitler.
OR

Describe the achievement of the U.N.O.

(a) Write short note : (any one)
@) Treaty of Versailles
(1) Lenin
(b) Write short note : (any one)
@ Results of the Second World War
@) The aims of U.N.O.

Write short answers : (any two)

@ Result of the First World War
@) Organs of the League of Nations
(1) Stalin and Russia

@v) Failure of U.N.O.
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